Session—-2021-22

Mathematics (7ifora)
Class-10th

IInd Terminal Examination Model Test Paper

Time : 3 hrs, Maximum Marks : 50
Part-A
Wen 3eh ot U9 @ All questions carry one mark each
(1x20 =20)
Q. 1. cos® x secd = ..........
(&) -1 (@) 1 () o
088 X See8 = i
(a) -—1 (by 1 (c) 0
Q.2. o7 g um & f&D tand 31K cotd &1 WIF aT&RT 21T
(F)  30° (@) 45 (7))  60e
For which angle (8) the values of tant and cot6 are
equal
(a)  30° (b) 45e (¢) 060°
Q3. UEFHAW e THTT/ TR W97 TETC B Heboet!

Z

() 7 (@) 2 (1) 3
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Q.4.

Q.5.

Q.6.

Acircle canhave ... parallel tangents at the most
(a) 1 (by 2 (g} 3

T R URIY S ST T ST weeevneenn, LIS
(h) 2mW: 1 (@) ®:1 (F) 1:1

The ratio of circumirence and diameter of a circle is

(a)2 7 :1 (b)ym .1 et I

[ ST A =T BT SATEAT ovvorverrensonss QT

(w) P (=) 6> (w)2r

The volume of a cube having side /15 ..............
(ay [’ (b) 6F° (¢c) 2F

AT §A o Hied, Aredeh 3 ageis o o sted
WERY T

(%) FgeTeh = 3 AIe®-HIey

(©) FgoTh = 2 HI¥h-HIe

(1) "gelsh = 3 HIYHH- 2 HI¥

‘The emperical relationship between mean, median and

mode 1s

(ay mode = 3 median- mean  (b) mode =2 median
- mean

(¢) mode = 3 median - 2 mean.
9
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Q.7. ARP(AFET) =0.04 @ PA) FHAE
(%Y 0.04 (H) 0.06 (7)) 0.96

If P(A) = 0.04 Than value of P(A) is -
(@)0.04  (b)0.06 (c) 0.96
s o |
Q.8. e s R !

(%) cosechd (&) secH () coth

s L —
(a) cosech (b) sece (c) cot @
Q.9. smdS°HUA ... 21
l I
(%) 1 (@) NG &2 5
The value of sin45°is ...........
I I
(a)l (b) NG (c) 3
Q.10. we g w6t Brewr 14em &, @ gt ufifr L L1
(%) 144cem (@) 44cm* (1) 88¢cm
The radius of a circle is 14cm then its circumferene
IS
(a) 144em (b) 4dem”  (¢) 88em

10
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Q.11.

Q.12,

Q.13.

o et [ firder S arel i @ g L

EAt

(o) 2mrl (| mr! (M) wr+/
A cone with slant height / and having radius r then its
curved surface area will be ...
(a) 2mr/ (b) mr/ (¢) mr+/
n
._.Cr__
HiEgdh =] + 2 % h
(/) n (&) / CID I
n “
=
Median = 1+| -2 xh
(a) n {(b) [ 'c) pE

Frefetian & @ =i ot e et g=ar w6 wifaesar 7
FAR:E il

(F) 0.8 (@) 9% (my 2.3

which of the following cannot be the probability of
an event.,

(a) 0.8 {(b) 9% el =23
11
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Q.14.

Q.15.

J.16.

Q.17.

IO F ocniitaviais = ]

(%) tan*6 (@) cos’B () cosec?d
SHIEE + i = 1
(a) tan*0 (b) cos?®  (¢) cosec’d

sin2 A = 2sinA e T glar €, SrEf A e @

(&) o () 30° (1) 450
sin2A=2sin Ais true when A= ... ..

(a) 0° (b) 30° (c) 45°

e R 9l 99 & 39 Braras o asrwd fawen o p°
- N— .

D P . P 2
(%) Ts0 () 360 1720

The arca of a sector of angle p° of a circle with ra-
dius R 5.

o ag p ”’)T[R 5 p X') R p Xr) 2
P s P gon .y —P—x27R
(@) T¢n (b) 350 (©) =35

T T ST o= %, a3 29! famd 20emx 15cm
x 3.5cm B

(%) 38.5 cm? (=) 38.5em® (=) 1050cm?

The volume of a cuboid having dimensions 20cm x
[5emx 3. 5em

(a) 38.5cm? (b) 38.5cm’ (¢) 1050cm?

12
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Q.18. T '7', HH AR &l I corvvvrvevrirvens T

Q.19.

Q.20.

(F) 12 (@) 9 (M 8

Mean of [st seven even numbers is ...

(a) 12 (b)y 9 (c) 8

U YT &1 T 91 ey fawm S und 2 w1 iierr

2 ]
)3 an

&

I
) —
() & (
A dice 1s thrown once then the probability to get odd
number 18 ............

!
(¢) 5

Lo | o

(&= (b)

Jem B arer a1ef Met =61 3haE &

198 4 792 4 396 4
cm (@) cme () ——em’

7 %

(&)
The volume of a hemisphere having radius 3cm is :-

198 792 3¢ .
(a) -—7-cm" (b) —i—cm‘ () —_%écm"

13
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IS
b

3.

Q4.

Part-B (41-9)

2 3feh ATl 9T (7 WA W | TRIE 4 U T )

All question carry 2 marks each (4+<2=8)
(Attempt any 4 questions out of 7 questions)
F I R 3 A 5 wet 42 ¥ g g9 F @ ww g
areeesdl TsRTel Sl § | 39T WTishal #4401 € T e U ofe
TE 81 ?
A bag contains 3 red balls and 5 black balls. A ball is

drawn at random from the bag what is the probabil-
ity that the ball drawn is red ?

SinA = — . @l cos A 30T tan A &1 °H $1d Hifeg |

|

! 3 , =
SinA= P than find the value of cosA and tan A.

7.6cm e Uek Y@TEE wited ofiw 3% 5 ¢ 8 % arqura o
faunfora =nifag!
Draw a line segment of length 7.6cm and divide it in
the ratio of 5:8.
52 o1 h1 &T=3] YR Bidl ¥ & el H W U feren
ST & | #7011 SRS WIS %2 w1 AT 5 Hin |

14
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Q.6.

Q.8.

One card is drawn from a well-shuffled deck of 52
cards. Calculate the probability (o get a king of red
color.

afs w fag P8 O & ardt el g9 11 PA, PB wef
TN YT 800 % IV R g B, 1 LPOA 36 sif
If tangents PA and PB from a point P to a circle with
centre '0" are inclined to each other at angle of 80°,
than find the value of ZPOA.

Gom TIoar aret o % Ueh FIsare e a1 Q19thel 71 iR,
fergert =817 600 T

Find the area of a scctor of a circle with radius 6 cm
if angle of the sector is 60"

2tan*45° + cos? 30° — sin? 60° =1 I Wi ST -

find the value of : 2tan?45° + ¢cos? 30° sin? 60°
3 37k ATl U9 (7 UV W W W 4 WY Ay )
All question carry 3 marks each (4x3 =12)
(Attempt any 4 question out of 7 questions)
U et w1 e w1 48 et @i 14om % 150w g s
e o 1faa e 91 wifs |

The lenght of the minute hand of a clock is 14cm.
Find the area swept by the minute hand in 5 minutes.

15
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Q9.

Q.10.

Q.11

; : 1 l
uﬁmqum:E,muA+B):7¢P5A+Bg
90°, A > B, 1 A silt B 313 sifsu

.. I i
If sin (A -B) = 55 C08 (A + B) =

90°, A > B, find A and B.

Y 1 em wreft §cm &l WA B TF v 1 UH TF T
Fret 18m o T R B9 H @i S E AR w9
i

A copper cyclinder of diameter 1em and length 8em
is drawn into a wire of length 18m of uniform thick-
ness. Find the thickness of the wire.

T o= ok O U e € fred weel v isfaied sen
A B C D 12 A

$H G 1 Uk R e W ©  gAET 4 gifawa) £
(DA 9= g1 (i) D 9 &1

A child has a dice whose six faces show the letters
as given below :

A B & D B A

L0°<A+B<

b2 | —

16
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Q.13.

Q.14.

Q.15.

The dice 1s thrown once : what is the probability of
getting (DA ? (1) D ?

forg wifsre = femadft g o Toreft o o Tl ' et i o
LT HHieT gl |

Prove that the tangents drawn at the ends of a diam-
eter of a circle are parallel.

ared I areft et 9 39K 24em iR R 551 Gem
AT Toh ¥ <191 791 € | O o= J 39 1A 6 SR o a5e
fean 1 7Tt =t B @ =it

A cone of height 24cm and radius o! base 6em is
made-up of modelling clay. A child reshapes it in the
form of a sphere. Find the radius of the sphere.

Sem 91 % o o o U < s Y e s geeat
60° & IV YT FRT §7 |

Draw a pair of tangents to a circle of radius Scm
which are inclined to each other at an angle of 60°

5 37eh ATl WY (4 AT W W g 2 WY AT )

All questions carry 5 marks each (245=10)
(Attempt any 2 question out of 4 questions)
f dem et O 99 & Frande @1 dmre am FifTg
Forerent 1T 300 & | Wiy &), s e Brwme @ dee

A WIS (70 = 3.94 w1 990 & ifsru)

i
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Find the area of the sector of a circle with radius
4em and of angle 30°. Also, find the area of the cor-
responding major sector (use © = 3.14)

Q.16. ¥l W Uk WHR Feate =t § | vt & o |, Wy
HHR o g fo7g © 15m X €, HHR & e &1 39199 o
60° B | THAR T 9T A ey |
A tower stands vertically on the ground from a point
on the ground, which 1s 15m away [rom the foot of
the tower, the angle of elevation of the top of the
tower 1s found to be 60°. Find the height of the tower.

Q.17. famisil 5.5x 10cm * 3.5c¢m 96T UF B9AW =9 & o,

75cm =R #HR 2mm BRE 9ra frad wi< & faeent @
[EECIGIR IV
How many silver coins 1.75 ¢m in diameter and of
thickness 2mm, must be melted to form a cuboid of
diameter 5.5 cm x 10cm x3.5 em ?

Q.18. faenfefai o w= 9qz 5 & Figedt & 20 giEny v fwd g
geero & wRomrerey fafieT afeart % geei = e 9
Gefea fr=iferfed s o g

} yfian 1-3 | 35 |57 | 79 [ 9-11 |
| uftari« gen | 7 s | 2 | R

37 3tfwE] @ sges T HT |

18
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A survey conducted on 20 households in a locality
by a group of students resulted in the [ollowing fre-

quency table for the number of family members in a

housecholds
Family size 1-3 | 3-5 ] 5-7 179 [9-11
Number of families 7 3 ’ 2 2 |

Find the mode of this data.

19
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